i

315-HCRS FOOTPRINT AND MOUNTING INFORMATION

Q

)
@) O] )

O

O

38.3

37.2

35.6

14.8

0

Mounting Hole Spacing

Z=\

L— 1.29

- -
@% == == [
== &5 '©o5

]
1]

-
[1Te]

15.8

Mounting Specifications
Quantity Description
4 5/16-18x1-1/2 HEX CAP
4 5/16 WHIZ NUT
8 1/2" DIA HOLE- NO THREADS

DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS

TITLE

315-HCRS FOOTPRINT AND MOUNTING INFORMATION

MODELED

JSHAW

DWG NAME

315-HCRS Drawings.idw

DRAWN

jhamaker

8/4/2011

SIZE

B NOTE: ALL UNITS IN INCHES

SHEET 1 OF 4




315-HCRS FEATURE SPECIFICATIONS

Remote Rotary Fan Speed Switch Remote Rotary Thermostat

5/16" Dia Mounting Bolt x 4 @* Remote Heat/Cool Toggle Switch

Wire Harness Outlet

Refrigerant Line Out

~— Heater Line In/Out

Refrigerant Line In

B

Drain Tube

Drain Tube

3.5" Angled Louvers x 6 ) , o
Filter Clip x 4 Removable Air Filters

n 'I' A c DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS
TITLE

V 315-HCRS FEATURE SPECIFICATIONS

MODELED DWG NAME
JSHAW 315-HCRS Drawings.idw
DRAWN SIZE

8/4/2011 B NOTE: ALL UNITS IN INCHES SHEET 2 OF 4

jhamaker




315-HCRS PARTS BREAKDOWN AND UNIT SPECIFICATIONS

Parts Breakdown

ITEM QTY [DTAC NO. DESCRIPTION NOTE
1 6 02-16073 3.5" Angled Louver
2 2 03-00165 Knob
3 1 03-13006 Rotary 3-Speed Switch
4 1 03-13020 Toggle Switch
5 1 03-13029 40 Amp Circuit Breaker 1
6 1 03-14003 Rotary Thermostat
7 1 04-15004 Block Expansion Valve
8 2 05-00301 90 Degree Heater Fitting
9 1 07-00315 Heat\Cool Evap Coil
1 09-00621 One Inch Grommet
2 09-04001 Hose Clamp 10/12 1
6 09-04012 #8 O-Ring
2 09-50004 #8 MIO Bulkhead w Jam Nut
15t [10-20012 Drain Hose, 1/2" 1
12 12-00003 1/4-20 X 3/8 Bolt
12-00023 5/16-18 - 1.5
12-00054 Whz Nut 5/16-18
12-00056 #8X3/4 Tap Screw

12-00059 Standard Switch Nut
12-00060 Heat/Cool Switch Nut
12-00117 Self Tap - 1/4-20 UNC - 0.75
12-00123 Kazoo Drain Restrictor
12-00315RB |External CRT Harness
12-00315RS | Internal Wire Harness (Remote)
12-01874 1/2" Plastic Drain Tee
12-01875 1/2" Plastic Drain Elbow
12-02643 1/2" Button Plug

12-02783 1" Button Plug

12-50419 Faceplate

12-50420 Face Plate - Heat/Cool
30-51580 12V Blower Assembly
31-50000 Filter 315

31-50001 Lid

31-50002 Housing

31-50015 315 Louver Plenum
50-50500 Expansion Valve Mnt Brkt
Note 1 Part not shown

[ (NS K IS ) NN

=2 =2 =2 [=2ININ|[=2 2] =2H]|N[=2[=2]2IN|o (N O |~ >

DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS

UNIT SPECIFICATIONS TITLE
BTU'S COOL | BTU'S HEAT | AIR FLOW | WEIGHT MOTOR CURRENT DRAW DTAC NO. V 315-HCRS PARTS BREAKDOWN AND UNIT SPECIFICATIONS
22,000 33,000 410 CFM 48 LBS 2-12V 24 AMPS @ 13.6 VDC 315-12HCRS MODELED DWG NAME
JSHAW 315-HCRS Drawings.idw
DRAWN SIZE
ihamaker 8/4/2011 B NOTE: ALL UNITS IN INCHES SHEET 3 OF 4




315-HCRS Series - Cool/Remote

External Wire Diagram

Yellow
To 12V or 24V
Power Source
Red ]
Red
Fuse
Mote: Use only fo \_D_ﬂ
154 — e
actuate relay ed 1B Le Orange
when using a Purple M
remole power T C He
condenser (NOT
A GROUND) 3 5pd
Rotary SW
Blue i Remote
Harness
To 12V or 24V Red Connector
Power Source
Ta Clutch Blug\White
MOTE:

One 247 piece of Red 10ga wire included to connect battery and circuit breaker (opticnal)
OEM customer supplies wiring for external mount rotary thermostat & H/C toggle switch. See 315-HCRS {Internal} wire diagram.

NOTE:

Short version of 315-CR | 12-00315) harness — 14 feet long

DTAC
~—

Manufacturer of Heavy Equipment Heat/Cool Systems

5130 Edgefield Ln, TY 76065 USA
Phone 1-800-527-9477 Fax 1-800-299.5972
www. dtac.com

12-D0315RB Rev2
02.10.12

=
| | e e e e e e e e e e T
|| | :
gl I |
gl I |
! l l ran |
| | Blac M l R |
| l | p— |
I % Motor I
l |Ground I |
I Motor | Motor
I : Resistor : | Resistor
. (N N O S .
| Blower Motor Assembly #1 Blower Motor Assembly #2
|
| Orange
|
|
Relay
: Plug
| &
| =
85 &7a 85 |e—Black
| il o g S
\ 30 T
| -
| _l_ Ground
|
|
|
|
e e e e o — o — — ] — e ] o — — — — —_— e e e o — — — — — — — — — — — — — — — — —
Evaporator Unit
Hed_f\_.-‘\
Blue—e
Orange Blue—e | |
— ElS
IEH:'ltrmz 55 Hea Utﬂlﬂl
onnector
Mote: Rotary thermostat included in package kit. OEM customer supplies Toggle SW
wiring for remote mounted thermostat,
/"‘F_\_\-H'H. {
/ N i
II.I OEM I"| ! Rotary
| Supplied ,-'—I Thermostat
'.\ Wiring ).-" :
N A

315-HCRS Series

Internal Wire Diagram

DTAG
-

Manufacturer of Heawvy Equipment Heat/Cool Systems

5130 Edgefield Ln, TX 76065 LISA
Phone 1-800-527-9477 Fax 1-800-299-5972
www. dtac.com

12-D0315R5 rev2
02.09.12

SIZE

B SHEET 4 OF 4




